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671 No Block 1071
4171 /7 07M 1 Block 387 / 57H
11970 /7 1174 2 Block 13471 /7 1174
470 /17K 3 Block 171 7 07H
rg2R7 oY ¥ AR A/ 4B s
> LEME ME Al MO 2270 HE 5 i
GsZEA 34 vs Atad 3
37K / 07H(00.0%) No Block 270 / 07H(00.0%)
307 7 87H(26.7%) 1 Block 3570 / 1971(54.3%)
11371 7 367H(31.9%) 2 Block 8771 / 377H(42.5%)
171 / 071(00.0%) 3 Block 370 / 27H(66.7%)
*SAMNE /43 (838)
> MEQ 37 22
> GSZEA
RE A= %3 AlZHA ol =42
MEH S 13(21.7%) 24(40.0%) 0(00.0%) 0(00.0%) 1(01.7%) 22(36.7%)
MNEZ2| 41(47.1%) 36(41.4%) 8(09.2%) 2(02.3%) 0(00.0%) 0(00.0%)
oA 54(36.7%) 60(40.8%) 8(05.4%) 2(01.4%) 1(00.7%) 22(15.0%)
*SANE (SHREH8)
> oiChHA
RE A= %3 AlZHA ol =42
MEH L 13(24.5%) 16(30.2%) 4(07.5%) 0(00.0%) 1(01.9%) 19(35.8%)
ME =2 38(51.4%) 28(37.8%) 8(10.8%) 0(00.0%) 0(00.0%) 0(00.0%)
oA 51(40.2%) 44(34.6%) 12(09.4%) 0(00.0%) 1(00.8%) 19(15.0%)
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Hl 82 H7|. GSEHA vs HLHHH (M2, 2022.12.08, 19:00~21:23)
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= HE RS
. =gy 5% = o #s | SME | MME | oy | S® | um cug oz
1 sAd 32 12 0 12 36 1 3.273 1,105 927 1.192 128
2 sS4y 27 9 3 12 30 14 2.143 1,030 923 1.116 25
3 St 2 At 19 6 5 1 24 20 1.200 970 946 1.025 14
4 IBK7| 2% 16 5 7 12 20 25 0.800 1,029 1,046 0.984 15
5 GSZEIA 16 5 7 12 20 26 0.769 973 1,000 0.973 14
6 KGCRlat= At 12 4 7 1 18 26 0.692 927 982 0.944 30
7 oMM E23 1 0 12 12 10 36 0.278 884 1,094 0.808 1214
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